Basics of Geometry Review Homework Name " EY

1. Name thi's plane in as many ways as you can. b
ane lane ABC CAB | plane ACD DAC ane 3CD Prc
BAC C :
BCA CDA GP
2. Name a ray in this plcture that has endpoint B.

o BD
) BA

3. Name a line in this pictuge.
@ B
) 7

Mot |,
4. Which names a pair of opposite rays (rays pointing in opposite directions)? A’”FJ‘
A ABand BG C AB and BA

B BCand AB D BDand BE @

b B E :
5. R, S, and T are collinear, and Sis between Rand T. f RS=x+1,5T=2x-2, and RT=5x -5, find RT.

E’“'S: 2":—?( (x+) + (2x-2) = (5x-5) ET=5@-5
A 3 = "; e dX
T
6. VX bisects ZWVY, mZWVX = (6x)°, and mZWVY = (16x — 42)°. e
What is the value of x? .
- Gx= 2 (lGX- 42)
W& A

1% *5"_:_5." 5

7. M is the midpoint g\f RS. R has coordinates (—2, 10), and M has coordinates (3 5). What are the coordinates of §?
[ ]

M
" -2, 10 —9
e (&O) (-2,10) (3 57 >(8 0)
i (76 ft S(y)
|
Snooker is a kind of po‘)l or billiards played on a 6-foot-by-12-foot table. 7

The side pockets are halfway down the rails (long sides).
(use a calculator for these problems)

6
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o | L7 Ex |
8. Find the distance, to the nearest tenth of a foot, diagonally >C" side
3144 = 121t ) pocket
across tg table from corner pocket to corner pocket. 80 ”(
9. Find the distance, to the nearest tenth of an inch, diagonally ¢ *6 K‘l /]
across the table from corner pocket to side pocket. ¥yth =52  tomer
. - pocket
dz956 21013 7243

x={72
Turn to the back!
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a quadrilateral with vertices atJ(-3,1),K(1,3),L(5 -1), and
e of the park. A straight

10. A city planner designs a park thatis

M (-1, -3) . There is an entrance to the park at the midpoint of each sid

path connects each entrance to the entrance on the opposite side. AME
coordinate plane represents 10 meters, what is the total length of the paths to the neares

meter?

(You may use a calculator for this problem!)

64 +50 = :
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